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- PART 1 (Office Management)
w1 (kiR weeH)
«© - Maximum Marks : 37°
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Attempt any Four questions in all, -
including Question No. 6 which is compulsory.
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1. . What do you understand by form control ? What are
the objects of form control ? - (3+7=10)
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2. What are the objectives of mechanisation in the
office 2 How would you determine whether a
_particular machine is needed in the office ?

, _ (5+5=10)
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3. What is computer ? What are the advantages &
limitations of computer ? (2+8=10)
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4.  What is the difference between Current Account and

- Saving Bank Account ? Explain in detail.- (10)
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5. “Office Management is. the task of planning,

co-ordinating and motivating. the efforts of others
towards the specific objectives in the office.” Discuss.

(10) -
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6. Write short not;es 6n ahy three :
.v_ - - (a) Bank Draft
' (.b) Bearer Cheque
" (c) Bill of Exchange
(d) Bill of Lading
(e) Board of Directors ' : N
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| PART II (w1 I1) '
Shorthand (English)

- Maximum Marks : ‘3'_8

All the answers in this Section should
~be written only in English.

Attempt any four questions in all, A
including Question No. 1 which is compulsory.

No. 1 is Compulsory.

1. Explain any four of the following, giving suitable
examples : )

(i) Write outlines of four words where half size
stroke is joined, for ted and ded.

(ii) What is Shorthand ?

(iii) Explain two compound'c_onsonants.

(iv) Tick H

(v) When is the doubling principle not employed ?

(vi) Explain the definition of vowels. (8)

2. Fill in the blanks with appropriate words given in the
~ brackets : - " (10)

(i) Shorthand outlines should be written ____
(too large/too smali/neither too large nor too
small).
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(ii) The secret of success in Shorthand is

(training/practice)

- (i) A prefix or suffix ____ _ attached to‘ a
contracted outline. (may be/may not be)

(iv) Writing of any stroke in ____ ___ the size of
its normal dength is called halving principle.
(half/double)

T

(v) A large initial hook is attached _ _  _ the
curved strokes represent the sound of ‘L’.

(outside/inside)
(vi) A right semicircle for ‘W’ is written

with K, G, M, R. (Initially/medially/finally)

(vii) Medially or finally a large circle, represents the
sound of - (SW/SS or SZ)

(viii)) Whep R follows another stroke and is hooked ’
finally, it is generally written

(upward/downward)

(ix) In Phraseography, the tick for ‘the’ is

used initially. _ (always/never) .

(x) A final Eook ———— — (can/cannot) be emp[oyed
when the word ends with a vowel sound.

P.T.O.
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3.

Write ‘the following words in
(a) Narrater

(b) Da;rk

(¢) Norwich

(d) Beverley

"(e) Desirable

| (f) Specialize

(g) Forcible
(h) Tortoiseshell

ii) Honourable

(j) Circle

Shorthand :
(i) More
(i1) Sure
(it)) Which have |
(iv) Within’
™) Signjﬁcant

(vi} Information

shorthand :

(10)

"Write "the following'grammalpgues/phrdses in
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' {vii) Yours truly .
(viil) I believe
(ix} Improvement

(x) Importance

5.  Write the following paragraph in shorthand, only
essential vowel signs need be shown.

The judge in-his charge to-the jury said: This poot’
boy’s injﬁry is very severe, and-if what-he states is.
right, it-was due to-the absence of a hooter on-the
car'which Robinson drove along-the arcade at a very
~ fast rate, his speed, if-we-can take-the story of-ihe
police as correct, being at-least forty miles an hour,
far too fast in so busy a thoroughfare. The boy says
the'car came on with a rush, no alarm was given,.
he-was struck and- thrown with a force so terrific
as to‘break his right leg. If-you think his story is
right, you-will give him damages. 1f-you assume his
story is wrong, and-if it appears to-you the injury
was caused by his own lack of vigilanée, you-will
refuse him the damages for-which he asks. You-
must carefully weigh both-the boy’s case and-the
case as set out by Robinson and decide on-the facts

as-they appear to-you. (10)
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6. - Transcribe (Write in English) the following Paragraph :
| (10)

{1 000)****



